6. Consider the curve given by the equation y* — xy = 2. It can be shown that % = —2
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(a) Writ n for the line tangent to the curve at the point (-1, 1).

Rﬂmcmber +wo JY\\\Y\CSS oce I\eec\eé AVO
Wevke o hngeM e -

\. Pos n o Q

Z. 6\0\06
The PO\Y\'\' -\, ) is %’weh Yo us,
Ona A i¢ o notrokion for B\O(Pe.

dx
' - ' N
Substivude ( V1) vnto —d—\)‘z ® 3ix
ond get ay \ . L
% &X 3(\\ Y

Wede Yhe ‘&rOkMaek\"‘c \\ne
poink - slope Loem Gnd leove 1t N
thot Form.

NN = (R X

-1 g ()



6. Consider the curve given by the equatio@t can be shown tha % =—2

| 35" - x
(b) Find the coordinates of all points on the curve at which the line tangent to the cu

rve at that point is vertical.
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6. Consider the curve given by the equation y3 — xy = 2. It can be shown that
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(c) Evaluate % at the point on the curve where x land y =1
2
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